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1 Syntax

(1) pe WS ifpe At={a,ap,a1,...,an, b}
(2) (—¢) e W it ¢ € WIf

3) (oAY)eWff if ¢, € WS

(4) (7¢) e Wff it o € WIf

(5) (Ap) e WfF if g € WS

6) ((f6)v) e WF if 6,00 € Wff

o Outer parens are omitted when unnecessary.

2 Worlds & Boolean Propositions

weN — w:At—{0,1}
Plew=1 <= w(p) =1, ifpe At
[0AY]cw =1 = [dlew = [¢]cw =1
[¢lew=1 <= [¢lcw =0

3 Contexts, Macro-Contexts, Push & Pop

(2)

c is a context iff ¢ C Q) x , ¢ is transitive & symmetric

o TP

(GR99)

() is a macro-context

If ¢ is a context & s is a macro-context, then (¢, s) is a macro-context
Nothing else is a macro-context

If s is a macro-context, then s, is the nth context of s (counting from 0 at the
top) and |s| is the number of contexts in s (excluding it’s final empty element)

(1&R:291)

Email: wbstarr@rutgers.edu.
URL: http://eden.rutgers.edu/~wbstarr.

For any macro-context s & context c:

PUSH(s,¢) =

(¢ s)

(Push, 1&R:292)

For any macro-context s & context c:

POP({c, §')) =

(c,8) if & = (), s’ otherwise

(Pop, I&R:292)

Context Update

c® ¢ ={{w,w) | [¢]ew =
c0 6= {(w,1) | [Hlow =

[[d)]] cw = 1}
[[(b]]c,w’}

(Assertive Update,, I&R:273)
(Inquisitive Update,, I&R:273)

Percolation & Macro-Context Update

F (e, d, ") = {{w,ws) € c| (wy,wsz) € " or Vw € Q: (wy,w) ¢ ¢ and (w,wy) ¢ '}

s[APl = (1) || =s|=n& (i) Vi<i<n:

(e, s")[7¢] =

(c@¢,5)

(Percolation, I&R:293)

st =t (84, S0, S0 D @)
(Assertive Update,,, [&R:293

s[(if ¢)] = PUSH(s, sp ® ¢) if sp ® ¢ # &; otherwise undefined (If Update,,, I1&R:297

s((if @) ] =

(s[(if @)))[¥]

)
(Inquisitive Update,,, I&R:293)
)
)

(Conditional Update,,, I&R:297

6 Useful Contexts

a b
wo | 0 0 00 := wy
wy |01 01 := wy
we |1 0 10 := wo
wy |1 1 11 :=w;3

00, 00
01,00
10,00
11,00

00,01
01,01
10,01
11,01

00, 10
01,10
10,10
11,10

00,11
01,11
10,11
11,11

Q={00,01,10,11} Q%=

10,10 10,11 01,01 01,11
=0 =02 0b= s9:= (02 ()

11,10 11,11

00,00 00,01

=< 01,00 01,01

11,11

= (LD} (e, ) 8=

11,01 11,11

{{(10,10), (11,11)}, s°)
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